
M9		
Substitution	

3.3	
	
Recall:		
	
	

𝟐𝒂 = 𝟐 × 𝒂 = (𝟐)(𝒂)	
	

Ø This	means	that	the	operation	between	the	coefficient	(the	number)	and	the	
variable	is	always	multiplication.	

	
	

1. Evaluate	each	expression:	
L1	 𝑥 + 5								when	𝑥 = 10	

	
	
	
	

L2	 2𝑎 + 6						when	𝑎 = −5	
	
	
	
	
	
	

L3	 −𝑥 + 15 + 3𝑥											when	𝑥 = −4	
	
	
	
	
	
	
	

L4	 (𝑦! + 12) ÷ 7 + 5𝑦								when	𝑦 = −3	
	
	
	
	
	
	
	
	
	



2. Evaluate	each	expression:	
L1	 𝑥 + 5𝑦								when	𝑥 = 4	and	𝑦 = 2	

	
	
	
	
	
	
	
	

L2	 2𝑎 − 6𝑏 + 1						when	𝑎 = −1	and	𝑏 = 7	
	
	
	
	
	
	
	
	
	
	
	
	

L3	 3𝑥 + 15 + 3𝑥𝑦										when	𝑥 = 4	and	𝑦 = −2	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



L4	 	
("!#$%)÷(#)*		

,"
						when	𝑦 = −3	and	𝑧 = 11	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	


